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13.  Without finding the values, write a sentence that compares the values of Expression G and Expression K.

5.0A.2 ,)/‘\’
/S/SN"CS Expression G: 4,632 - 524

Expression K: 3 x (4,632 - 524)
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14. Write more than one expression that represents 14 added to the product of 2 and 7?
5.0A.1
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15.  which expression(s) has (hav ) a value of 142 Select all that apply.
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as they entered the store in one weekend. If each
>Qf524 customers who entered the store, how many
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£ 5 o find thle value of which expression(s)?
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(B> (70+3)x(40+2+03)
€ (70x3)+(40x2x03)
BD R 403

(E) 42
r \/ 3 % 73

18. Aroller coaster has 4 sections that each hold a maximum of 15 people. If the ride is filled to capacity
sners  ride, how many total people will have ridden the roller coaster after 144 rides? i
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19. Ssimplify the expression below.
5.0A.
@Z‘;ﬁ\q&o 5+4x(14-8)
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20. Mary carried one box that weighed 10.5 pounds and another box that weighed 7 pounds into her new house.
smp1  How many ounces do both boxes welgh altogether? . \/\ =
1 { < ;/ \
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21. Mandy has walked her dog every day for 3 weeks. If she walks her dog every day for one more week, how
S5.MD.1 many total days aﬂll she have walked her dog altogether? : X .‘
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